

S.113/9

$$m = 2 \cdot m_0$$

$$\frac{m_0}{\sqrt{1 - \left(\frac{v}{c}\right)^2}} = 2 \cdot m_0 \quad \rightarrow \quad \sqrt{1 - \left(\frac{v}{c}\right)^2} = \frac{1}{2} \quad \rightarrow \quad 1 - \left(\frac{v}{c}\right)^2 = \frac{1}{4}$$

$$\rightarrow \quad 1 - \frac{1}{4} = \left(\frac{v}{c}\right)^2 \quad \rightarrow \quad \frac{v}{c} = \sqrt{1 - \frac{1}{4}} \quad \rightarrow \quad v = 0,87 c$$

S. 113/10

$$m = \frac{m_0}{\sqrt{1 - \left(\frac{v}{c}\right)^2}} = \frac{9,1 \cdot 10^{-31} \text{ kg}}{\sqrt{1 - 0,8^2}} = \frac{9,1 \cdot 10^{-31} \text{ kg}}{0,6} = 1,52 \cdot 10^{-30} \text{ kg}$$